2. Adverbs 

1. Adverbs are used in academic texts in a variety of ways. Among the most important are: a) to provide more detail, with verbs and adjectives: Reasonably good data are available for only … … decomposition eventually ceases in modern landﬁlls … b) individually, often at the beginning of sentences, to introduce new points: Currently, the Earth’s atmosphere appears to be … Alternatively, the use of non-conventional renewable energies … NB. These can be similar in function to conjunctions. 

2. Adverbs linked to verbs and adjectives usually fall into three groups. 
a) Time (when?) 

previously published retrospectively examined 

b) Degree (how much?) 

declined considerably contribute substantially 
c) Manner (in what way?) 

medically complicated remotely located 

3. Adverbs used individually need to be employed with care. 
It is dangerous to over-use them, for they may convey a sense of the author’s voice commenting on the topic. As the academic writer aims to be objective, adverbs like fortunately or remarkably may be unsuitable. However, other, less subjective adverbs can be useful for opening paragraphs or linking ideas. The following examples are often followed by a comma. 

cross reference 

4. Insert a suitable adverb from the table into the gaps in the sentences. 
a) Most houses do not have electricity. . . . . . . . . . . . . . . ., then, there is little chance of improving living standards. 

b) 
. . . . . . . . . . . . . . ., the internet was mainly used for academic purposes. 

c) 
Some courses are assessed purely by exams. . . . . . . . . . . . . . . ., coursework may be employed. 

d) 
. . . . . . . . . . . . . . ., there has been growing concern about ﬁnancing the health service. 

e) Many birds use bright colours to attract a mate. . . . . . . . . . . . . . . ., ﬂowers advertise their position to fertilising insects. 

f) 
. . . . . . . . . . . . . . ., the development should be acceptable environmentally. 

5. The following adverbs are used to describe changes in the rate of something: 
Note that certain adverbs are mainly used to describe changes in time: 

Production in Russia rose slowly from 1920 to 1929. 

Others are commonly used to show changes in amount: 

The birth rate increased slightly after the revolution. 

Label the adverbs in the table above either A (amount) or T (time). 
6. 
Use a suitable adverb to complete the following sentences. 
a) Last year inﬂation increased . . . . . . . . . . . . . . .from 2% to 2.3%. 

b) Life expectancy has fallen . . . . . . . . . . . . . . .in the last 20 years, by about 15%. 

c) The price was reduced . . . . . . . . . . . . . . ., so that a £12 book was offered for £6. 

d) Sales rose . . . . . . . . . . . . . . . while he was chairman, averaging 14% per year. 

e) The numbers of people voting has declined . . . . . . . . . . . . . . ., from 80% to 65%. 

f) The crime rate climbed . . . . . . . . . . . . . . .in the early1990s, by 20–25% a year. 

g) In the last four years unemployment has fallen . . . . . . . . . . . . . . ., from 5% to 3.5%. 

h) In the ﬁrst two years of the war the suicide rate dropped . . . . . . . . . . . . . . ., by over 30% each year. 

cross reference 

5. Conjunctions 

1.
Conjunctions are words and phrases such as and or but which join parts of a sentence together. There are six main types of conjunctions: 
2.
Decide which type (a–f) the following sentences belong to. 
a) Before the Roman invasion the economy was mainly agricultural. (…) 

b) The results were checked because they were so surprising. (…) 

c) Estimates suggest that the effects will continue, but at a more moderate rate. (…) 

d) Some Asian economies, for example Indonesia, are growing more slowly. (…) 

e) Moreover, travel information is very important for route planning. (...) 

f) The ﬁndings were ambiguous, therefore the study was revised. (...) 

g) The deadline is next week, so speed is vital. (...) 

h) There is a serious problem in the district; namely unemployment. (...) 

4. Insert a suitable conjunction in each gap.

 a) …………… the course was voluntary only seven students attended. 

b) The longest day of the year, …………… June 21st, was a time of festivity. 

c) ……………. the equipment was checked the experiment was repeated. 

d) …………… most people use the train, a minority walk or cycle. 

e) Brick is a thermally efﬁcient building material. It is, ……………, cheap. 

f) Demand has increased for summer courses, …………… extra ones are offered this year. 

5. Complete the following biography by inserting suitable conjunctions. 
THE BEATLES 

The group which became the Beatles was formed in 1960 by John Lennon and Paul McCartney, with George Harrison and Ringo Starr joining later. a) ………… playing in small clubs for two years their ﬁrst record, Love Me Do, was released. She Loves You, in 1963, broke all previous sales records in Britain. b) ………… their simplicity, the early Beatles songs c) ………… Yesterday and Paperback Writer are still seen as masterpieces of musical genius. d) …………, the unusual haircuts and clothes worn by the Beatles ﬁtted well with the style of the mid-1960s. The popularity of the group soon spread to the USA and e) ………… around the world, f) ………… the media invented the term ‘Beatlemania’ to describe the excitement that was part of their tours. g) ………… their popularity the group were awarded the MBE by the Queen in 1965, h) ………… this caused anger among some of the older holders of this award. 

In 1966 the Beatles stopped live performances, i) ………… their music was becoming too complex to produce on stage. A year later Sgt. Pepper’s Lonely Hearts Club Band was released, j) …………was immediately recognised as one of the most inﬂuential works in the history of popular music. k) …………, the pressures of fame were beginning to affect all the members of the band, l) ………… that they found it harder to work together. They played together for the last time in 1969 and m) ………… split up in 1970. 

6. Conjunctions of opposition 
Note the position of the conjunctions in the following examples. 

The economy is strong, but/yet there are frequent strikes. Although there are frequent strikes, the economy is strong. In spite of/despite the frequent strikes, the economy is strong. There are frequent strikes. However/nevertheless, the economy is strong. 

Write two sentences in each case. 
Example: The equipment was expensive/unreliable. The equipment was expensive but unreliable. Although the equipment was expensive, it was unreliable. 

a) The government claimed that inﬂation was falling. The opposition said it was rising. 

b) This department must reduce expenditure. It needs to install new computers. 

7. Finish the sentences in a suitable way. 
a) In contrast to America, where gun ownership is common, . . . . . . . . . . . . . b) Despite leaving school at the age of 14, . . . . . . . . . . . . . c) The majority displayed a positive attitude to the proposal, but . . . . . . . . . . . . . d) The review has examined six studies of medical policy; however . . . . . . . . . . . . . 

e) Although the spring was cold and dry, . . . . . . . . . . . . . 

6. Formality in Verbs 

1. A feature of most academic writing is a tendency to use rather formal verbs to express the writer’s meaning accurately: 
… supply of energy required to accelerate the growth … … the development that is envisaged here needs to be not only sustainable … 

In spoken English we would be more likely to use speed up and imagined. 

2. Study the list below and ﬁnd the meaning in each case. 
NB. Some of these verbs, e.g. hold, are used in academic writing with a special meaning. 
3. Select the better alternative in each case. 
a) The survey proved/yielded a surprising amount of information on student politics. b) This question arose/manifested when older students were examined. c) Both writers attempt to demonstrate/imply that older employees are more reliable. d) Darwin held/indicated very strong views on this issue. e) It must be proved/emphasised that these results are only provisional. f) One of the chimpanzees supplemented/exhibited signs of nervousness. g) Freud was concerned/identiﬁed primarily with middle-class patients. h) The study was generated/carried out to explore the issue of religious tolerance. 

4. Insert a suitable verb from the box below into each gap. 
a) The results clearly …………… that younger children learn more quickly. 

b) This paper attempts to …………… the confusion surrounding studies of infertility. 

c) Social class must be ………….. as a leading factor in educational success. 

d) His study fails to ………….. between the various types of reinforced concrete. 

e) Most experts failed to …………… the collapse of Soviet power in 1989. 

f) It seems proﬁtable to …………… the record of smaller companies. 

g) The noises made by whales have been …………… in several ways. 

h) This problem was ………….. by reversing the direction of the gas ﬂow. 

7. Modal Verbs 

1. Modal verbs used in academic writing tend to have three main meanings: 
a) Ability May and can are similar but can is more common: 

The assessment … may be made in a variety of ways … with smaller samples this method cannot be used … ... one faculty can have more than one academic programme … 

b) Degrees of certainty Will and should are used for predictions of near certainty (will is stronger): 

… in the knowledge that the parent will be there when needed Improved facilities should lead to lower staff turnover 

May and might both suggest possibility: 

Landﬁll carbon sequestration might supplement fossil fuel combustion … … multiple factors may lead to a psychiatric consultation … 

Would and could are used in conditional situations (not always with if): 

… or would we conclude that the observation is uninformative? … estimates of the model’s parameters could conceivably be computed … 

c) Degrees of obligation Must suggests strong obligation; should is for recommendations: 

To obtain a total estimate … several approximations must be used A primary research emphasis … should then be on identifying … 

2. Complete the following sentences with a suitable modal of ability. 
a) The question is whether democracy . . . . . . . . . . . . . . . survive in such difﬁcult conditions. 

b) Fifty years ago a new house . . . . . . . . . . . . . . . be bought for £1500. 

c) Students. . . . . . . . . . . . . . . be expected to write more than one long essay a week. 

d) The mistakes of past historians. . . . . . . . . . . . . . . now be clearly seen. 

e) Jenkins (1976) argued that aluminium. . . . . . . . . . . . . . . be used in place of steel. 

3. Complete the following with a suitable modal of certainty. 
a) It. . . . . . . . . . . . . . . not be surprising if the company were bought by a rival. 

b) Various social situations. . . . . . . . . . . . . . . lead to a child’s loss of conﬁdence. 

c) Other studies conﬁrm that a permanent shift in transport use . . . . . . . . . . . . . . occur. 

d) By 2020 most children . . . . . . . . . . . . . . . have internet access by the age of ﬁve.

 e) If the pressure is lowered, the reaction . . . . . . . . . . . . . . . take place more quickly. 

f) In the long term, solar power . . . . . . . . . . . . . . . make a signiﬁcant contribution. 

4. Use a suitable modal of obligation to complete the following. 
a) Students studying abroad . . . . . . . . . . . . . . . take some of their favourite music with them. 

b) All books. . . . . . . . . . . . . . . be returned to the main library by June 19th. 

c) First-year undergraduates . . . . . . . . . . . . . . . take at least three modules from the list below. 

d) The second part of the essay . . . . . . . . . . . . . . . focus on the differences in the results. 

5. In the following sentences, the meaning changes according to the modal verb used. Find two possibilities, giving the meanings in each case. 
Example: 

Using the internet means the company can sell its products worldwide. (ability) Using the internet means the company might sell its products worldwide. (possibility) 

a) The poorest people . . . . . . . . . . . . . . . be helped by improving the supply of water (. . . . . .) The poorest people . . . . . . . . . . . . . . . be helped by improving the supply of water (. . . . . .) 

b) Tribal leaders of the 1st century BC . . . . . . . . . . . . . . . have used writing. (. . . . . .) Tribal leaders of the 1st century BC . . . . . . . . . . . . . . . have used writing. (. . . . . .) 

c) Few people . . . . . . . . . . . . . . . agree to take part in the experiment. (. . . . . .) Few people . . . . . . . . . . . . . . . agree to take part in the experiment. (. . . . . .) 

d) Care . . . . . . . . . . . . . . . always be taken when interpreting 19th-century data. (. . . . . .) Care . . . . . . . . . . . . . . . always be taken when interpreting 19th-century data. (. . . . . .) 

e) By the mid-21st century poverty . . . . . . . . . . . . . . . be abolished. (. . . . . .) By the mid-21st century poverty . . . . . . . . . . . . . . . be abolished. (. . . . . .) 

f) Repeating the study. . . . . . . . . . . . . . . conﬁrm their ﬁndings. (. . . . . .) Repeating the study. . . . . . . . . . . . . . . conﬁrm their ﬁndings. (. . . . . .) 

9. Nouns and Adjectives 

1. Compare these sentences: The efﬁciency of the machine depends on the precision of its construction. Precise construction results in an efﬁcient machine. The ﬁrst sentence uses the nouns efﬁciency and precision. The second uses adjectives: precise and efﬁcient. Although the meaning is similar the ﬁrst sentence is more formal. Effective academic writing requires accurate use of both forms, which can be easily confused. 

2. Underline and correct the mistakes in the following: a) Some areas of the capital are not safety. b) Various culture patterns in French society need to be considered. c) The deep of the lake is calculated at 550 metres. d) A health diet includes fresh fruit and vegetables. 

1
Complete the gaps in the table below. 
2
Insert a suitable noun or adjective from the table in each sentence. 
	height 
	
	reliability 
	
	heat 
	

	
	strong 
	
	conﬁdent 
	
	true 

	width 
	
	probability 
	
	necessity 
	

	
	long 
	
	dangerous 
	
	relevant 


a) These data appear not to be . . . . . . . . . . . . . . . . and should not be trusted.

b) The . . . . . . . . . . . . . . . . of the matter may never be known, since all the records are lost. 

c) There is a strong . . . . . . . . . . . . . . . . that coffee prices will fall next year. 

d) In some places the River Zambesi is more than three kilometres . . . . . . . . . . . . . . . . 

e) The results are so surprising it will be . . . . . . . . . . . . . . . . to repeat the experiment.

 f) It is not easy to see the . . . . . . . . . . . . . . . . of art history to engineering. 

g) Regularly backing-up computer ﬁles reduces the . . . . . . . . . . . . . . . . of losing vital work. 

h) Revising for exams is a tedious . . . . . . . . . . . . . . . . 

i) The building’s . . . . . . . . . . . . . . . . is due to its massive steel frame. 

j) . . . . . . . . . . . . . . . . in the banking system was destroyed by years of inﬂation. 

5. Underline the adjective(s) in each sentence for which it is possible to form a related noun. Write the noun in brackets. 
Example: 

Few patients are likely to suffer side-effects from the drug. (likelihood) 

a) Various methods of dealing with the spread of malaria were suggested. (. . . . . . . .) 

b) Dr Lee adopted an analytical approach to the inquiry. (. . . . . . . .) 

c) Antibiotics were not available in the ﬁrst half of the 20th century. (. . . . . . . .) 

d) Her major contribution to the research was her study of folklore in Spain. (. . . . . . . .) 

e) The precise number of people affected by the earthquake is unknown. (. . . . . . . .) (. . . . . . . .) 

f) Some progress was made in the theoretical area. (. . . . . . . .) 

g) A frequent complaint is that too much work is expected in the ﬁrst semester. (. . . . . . . .) 

h) We took a more critical approach to irrigation. (. . . . . . . .) 

i) The Department of Social Policy is offering three courses this year. (. . . . . . . .) 

j) Finally, the practical implications of my ﬁndings will be examined. (. . . . . . . .) 

7. Complete the sentences with nouns or adjectives from the table above.

 a) The. . . . . . . . . . . . . . . . . . . . consequences of the war were inﬂation and unemployment. b) 365.25 days is an . . . . . . . . . . . . . . . . . . . . of the length of the solar year. c) One. . . . . . . . . . . . . . . . . . . . of British weather is that it is very changeable. d) All . . . . . . . . . . . . . . . . . . . . doors are ﬁtted with security systems. e) They attempted to make a . . . . . . . . . . . . . . . . . . . . of all the different proposals. f) The. . . . . . . . . . . . . . . . . . . . length of time patients have to wait is 34.6 weeks. g) The traditional idea that the sun went round the earth 

was . . . . . . . . . . . . . . . . . . . . , but wrong. 

h) Ancient Japanese . . . . . . . . . . . . . . . . . . . . was highly developed in areas such as poetry and ceramics. 

10. Nouns: Countable and Uncountable 

1.Most nouns in English are countable, but the following are generally uncountable, i.e. they are not usually used with numbers or the plural ‘s’. 
2.Another group of uncountable nouns is used for materials: 
wood/rubber/iron/coffee/paper/water/oil/stone Little wood is used in the construction of motor vehicles. Huge amounts of paper are used to produce magazines. 

Many of these nouns can be used as countable nouns with a rather different meaning: 

Over twenty daily papers are published in Delhi. Many woods in the county have a long recorded history. 

3. The most difﬁcult group can be used either as countable or uncountable nouns, often with quite different meanings. 
She developed an interest in bio-genetics. The bank is paying 4% interest on six-month deposits. 

Other nouns with a similar pattern are used for general concepts (love/fear/hope). 

Most people feel that life is too short. (in general) Nearly twenty lives were lost in the mining accident. (in particular) 

Complete the following sentences to show the differences in meaning. 
a) Three years’ experience . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . b) She had some exciting experiences while . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . c) Most small businesses have. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . d) In many countries it is normal to discuss business . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . e) A number of capitals such as Washington and Canberra are. . . . . . . . . . . . . . . . . . f) Huge amounts of capital . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . g) Two world wars in thirty years caused. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . h) War is a feature of . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . i) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . was the cause of six deaths. j) Death is . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . k) New medicines are developed . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . l) Studying medicine at university can be. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

4. Note the importance of the type of noun in the following structures: 
Questions: How much accommodation (U) is available for rent? How many rooms (C) are vacant next month? Negatives: Not much/Little equipment (U) was needed for the experiment. Not many/Few machines (C) were functioning in the IT room. 

5. In the following sentences, choose the correct alternative. 
a) Little/few news reached the prisoners in the castle. b) He established three successful businesses/business in 1995. c) Substantial experiences/experience of report writing are/is required. d) It has often been claimed that travel broadens/travels broaden the mind. e) Paper was/papers were very expensive in the Middle Ages. f) How much advice/many advices were they given before coming to Britain? g) She had little interest/few interests outside her work. h) The insurance policy excludes the effects of civil war/wars. i) Irons were/iron was ﬁrst powered by electricity in the twentieth century. j) They studied the behaviour/behaviours of three groups of lions over two years. 

6. Complete the gaps in the following paragraph with much/many/little/few. 
Very a) . . . . . . . . . . . . . . data is available to students of housing of the 6th–9th centuries A.D. No complete examples survive, and researchers are not certain how b) . . . . . . . . . . . . . .information can be taken from the literature. It is not clear how c) . . . . . . . . . . . . . . people lived in each house, and in the d) . . . . . . . . . . . . . . sites that have been investigated (only four in the whole country) 

e) . . . . . . . . . . . . . . progress has been made towards ﬁnding a standard ﬂoor plan. 

11. Passives 

1. The passive is used when the writer wants to focus on the result, not on the cause: 
The book was written in 1926. (passive) My father wrote the book. (active) 

In the ﬁrst sentence, the emphasis is on the date, in the second on the writer. So the passive is used in written English when the cause (a person or thing) is less important or unknown. 

The treaty will be signed next year. (by someone) The tower was destroyed a century ago. (by something) 

It is quite common to show the cause of the action by adding by … 

The army was helped by good weather in the autumn of 1296. 

2. The passive is also used in written work to avoid using I or we: 
The ﬁndings were evaluated. An analysis will be made. 

Change the following into the passive. 
a) We collected the data and compared the two groups. b) I interviewed 120 people in three social classes. c) They checked the results and found several errors. 

3. An adverb is often inserted in a passive form: 
This process is commonly called ‘networking’. 

Change the following sentences from active to passive and insert a suitable adverb from the box below. 
a) A storm damaged 40% of the houses in the port. b) The Connors family ran the company until 1981. c) They had built the house near the station. d) Picasso painted the portrait of the old man. e) They provided pencils for all students in the exam. f) Doctors tested over 550 people for the disease over a three-year period. g) The researchers calculated the percentages to three decimal places. h) They called their business the Universal Trading Company. 

4. In most texts the active and the passive are mixed. 
Read the following article and underline the passives. 
BOOTS THE CHEMISTS 

When John Boot died at 45, he was worn out by the strain of establishing his herbal medicine business. He had worked his way up from his early years as a farm labourer to be the owner of a substantial business. He was born in 1815, became a member of a Methodist chapel in Nottingham, and later moved to the city. Concerned by the situation of the poor, who were unable to afford a doctor, in 1849 he opened a herbal medicine shop which was called the British and American Botanic Establishment. In the early stages John was helped ﬁnancially by his father-in-law, while his mother provided herbal knowledge. 

On his death in 1860 the business was taken over by his wife, and she was soon assisted by their 10-year-old son, Jesse. He quickly showed the business ability which transformed his father’s shop into a national business. He opened more shops in poor districts of the city and pioneered advertising methods. Another innovation was to do all his business in cash, rather than offering credit. 

1Could all the passives in the text be replaced by the active? What would be the result if most of them were? 
2The passive is used more in written than in spoken English, but should not be over-used, because it can give a very formal tone. 
In the following text, which continues the history of Boots, the passive is used throughout. Change some of them into the active. 
In 1889 he was introduced to Florence Rowe, the daughter of a bookseller, while on holiday. Her inﬂuence was felt by the business after they were married: the product range was enlarged to include stationery and books. In addition she was responsible for the introduction of the Boots subscription library and in-store cafes. 

During World War 1 the factories were used to make a variety of products from sterilizers to gas masks. But by 1920 Jesse was being attacked by arthritis and was worried by the economic prospects. Boots was sold to an American rival for £2 m. This, however, was made bankrupt during the Depression and Boots was then bought by a British group for £6 m, while Jesse’s son, John, was made chairman. The famous No. 7 cosmetics range was launched in the 1930s. In the 1939–45 War the saccharin equivalent to 700,000 tons of sugar was produced in the Nottingham factories. 

13. Prepositions 

1. Underline the prepositions in the following text. 
The purpose of this paper is to examine the development of the textile industry in Britain over the period 1750–1850. This clearly contributed to the nation’s industrialisation, and was valuable for stimulating exports. In conclusion, the paper sets out to demonstrate the relationship between the decline in agricultural employment and the supply of cheap labour in the factory context. 

The table lists the main ways of using prepositions. 

Find one example of each in the text. 
NB. The difference between phrasal verbs and verbs with prepositions: The cars are made in Korea. (verb + preposition = easy to understand) The writer made up the story in a night. (phrasal verb = hard to understand) 

1.
Study these further examples of preposition use and decide on their type. 
2.
Insert a suitable preposition before or after the nouns in the sentences below. 
a) Evidence is presented in support . . . . . the value of women’s work. b) A small change . . . . . demand can lead to large price rises. c) Many examples were found . . . . . high levels of calcium. d) We tried to assess the feasibility . . . . . allowing children to choose their 

own subjects. e) The second point is their impact . . . . . developing countries. 

4. Complete the following phrases with the correct prepositions. 
a) . . . . . the whole 

b) point . . . . . view 

c) in respect . . . . .

d) . . . . . spite ofe

e) in support . . . . . 

5. Complete the following sentences with suitable prepositions of place or time. 
a) . . . . . . . . . . . . the respondents, few had any experience of working abroad. 

b) Industrial production declined gradually . . . . . . . . . . . . 1976 . . . . . . . . . . . . 1985. 

c) Most workers . . . . . . . . . . . . the European Union retire before the 

age . . . . . . . . . . . . 60. 

d) Albert Einstein was born . . . . . . . . . . . . Germany . . . . . . . . . . . . 1879. 

e) Many ﬂowers open their petals . . . . . . . . . . . . the morning and close them . . . . . . . . . . . . night. 

f) . . . . . . . . . . . . the surface, there is no difference . . . . . . . . . . . . male and female responses. 

6. Complete the text with suitable prepositions. 
This study sets a) . . . . . . . . . . . . . . to answer the controversial question b) . . . . . . . . . . . . . . whether increased food supply c) . . . . . . . . . . . . . . a country makes a signiﬁcant contribution d) . . . . . . . . . . . . . . reducing malnutrition e) . . . . . . . . . . . . . . children. It uses data collected 

f) . . . . . . . . . . . . . . 75 countries g) . . . . . . . . . . . . . . 1969 and 1987. The ﬁndings are that there was a 

considerable improvement h) . . . . . . . . . . . . . . the majority i) . . . . . . . . . . . . . . countries, despite population increases j) . . . . . . . . . . . . . . the period. However, a clear distinction was found k) . . . . . . . . . . . . . . the poorest countries (e.g. l) . . . . . . . . . . . . . . South Asia), where the improvement was greatest, and the wealthier states such as those m) . . . . . . . . . . . . . . North Africa. Other factors, notably the educational level n) . . . . . . . . . . . . . . women, were also found to be critical o). . . . . . . . . . . . . . improving childhood nutrition. 

14. Prepositions after Verbs 

1. The following verbs are generally used with these prepositions: 
* focus on and rely on are similar. 
2. Complete the following with suitable verbs and prepositions. 
a) The enquiry . . . . . . . . . . . . . . . . . . . the cause of the accident, not the consequences. 

b) Dr Cracknell. . . . . . . . . . . . . . . . . . . that there were only two weeks before the deadline. 

c) Fewer British students are . . . . . . . . . . . . . . . . . . . foreign languages. 

d) The theory of relativity will always be . . . . . . . . . . . . . . . . . . . Albert Einstein. 

e) A football pitch is . . . . . . . . . . . . . . . . . . . two halves. 

f) A series of strikes were . . . . . . . . . . . . . . . . . . . the decline in production during May. 

g) Millions of men died for the cause they . . . . . . . . . . . . . . . . . . . 

h) Every nation needs a public transport system it can . . . . . . . . . . . . . . . . . . . 

1.
With the following verbs more than one preposition is possible. Note the change of meaning in some cases. 
2.
Choose suitable verbs and prepositions from (1) and (3) to complete the following text. 
The new model of camera, the Alpha 616, a) . . . . . . . . . . . . . . . . . . . . . . . the previous model, the 615. The Alpha 616 b) . . . . . . . . . . . . . . . . . . . . . . . a standard camera with a small tape recorder c) . . . . . . . . . . . . . . . . . . . . . . . it. This allows the photographer to talk to the camera. The marketing unit d) . . . . . . . . . . . . . . . . . . . . . . .the camera market carefully and discovered that many people forget where they take pictures. These people can now e) . . . . . . . . . . . . . . . . . . . .the Alpha 616 to remember for them. 

The company has f) . . . . . . . . . . . . . . . . . . . . . . . over £2 million . . . . . . . . . . . . . . . . . . . . . . . the new product. g) . . . . . . . . . . . . . . . . . . . . . . . other projects this may seem a small amount, but this is not a large business. It is hoped that customers will h) . 

. . . . . . . . . . . . . . . . . . . . . .over £100 . . . . . . . . . . . . . . . . . . . . . . .the camera, which the company will i) . . . . . . . . . . . . . . . . . . . . . . . for signiﬁcant proﬁts next year. 

18. Singular/Plural 

1. This can be a confusing area, but the following illustrate the main areas of difﬁculty: 
a) Nouns should agree with verbs, and pronouns with nouns: 

Those problems are unique. There are many arguments in favour. 

b) Uncountable nouns and irregular plurals have no ﬁnal -s: 

Most students receive free tuition. DNA is located in every part; hair, nails, teeth … 

c) General statements normally use the plural: 

State universities have lower fees. 
d) Each and every are followed by singular nouns: 

Every student gets ﬁnancial support. 

e) Two linked nouns should agree: 

Both the similarities and differences are important. 

Find the mistake in the following and decide what type (a–e above) 
Note that if a verb has more than one subject it must be plural, even if the preceding noun is singular: 

Scores of students, some teachers and the president are at the meeting. Their valuable suggestions and hard work were vital. 

Certain group nouns, e.g. team/army /government, can be followed by either a singular or plural verb: 

The team was defeated three times last month. (collectively) The team were travelling by train or bus. (separately) 

3. Underline and correct the mistakes in the following (one per sentence). 
a) More must be done to solve that problems of development. b) There are two sorts of college in Japan. c) The attitude towards this issue vary from person to person. d) Many culture from around the world are found in the city. e) In the country the people is more friendly. f) It is common to move from the countryside to ﬁnd job. g) Huge number of cars use the motorway. h) The city have disadvantages such as a high rate of crime. i) Public transport lets us move to another places easily. j) There are bad pollution due to trafﬁc congestion. k) People should not ignore important factors that affect their life. 

4. Read the text and choose the correct alternative. 
A large number of company/companies has/have developed website/websites in the last few years. Trading using the internet is called e-commerce/e-commerces, and this/these is/are divided into two main kinds: B2B and B2C. Many business/businesses want to use the internet to sell directly to its/their customers (B2C), but large numbers have experienced trouble/troubles with security/securities and other practical issues. In addition, the high start-up costs and the expense/expenses of advertising means/mean that this/these company/companies often struggle to make a proﬁt. 

19. Tenses 

1. Decide which tenses are used in the following examples (verbs in italic) and complete the table to explain why. 
a) According to Hoffman (1996), small ﬁrms respond more rapidly to changes … b) Currently, inﬂation in the US is rising while imports are falling. c) Since November there has been a signiﬁcant increase in cases of inﬂuenza. d) In the last three years more students have been working part-time. e) After the war there was a sharp rise in divorce. f) During 1998 they were developing a new system. g) The study was published in June. It showed that in 1998 and 1999 proﬁts had 
increased by 55%. h) The forecast concludes that interest rates will reach 7.5% next year. 

NB. In the last month/year/decade = present perfect (unﬁnished period). Last month/year/decade = simple past (ﬁnished period). 

2. Complete the following sentences by selecting the most suitable tenses. 

a) Home ownership . . . . . . . . . . . . . . . . . . . . . . . . . (rise) steadily for ﬁfty years. 

b) GM. . . . . . . . . . . . . . . . . . . . . . . . . . . (stand for) genetically modiﬁed. 

cross reference 

c) Last year the police. . . . . . . . . . . . . . . . . . . . . . . . . (record) a record number of crimes. 

d) When she died in 1986 she . . . . . . . . . . . . . . . . . . . . . . . . . (write) over 50 books. e) By 2050 average temperatures . . . . . . . . . . . . . . . . . . . . . . . . . (be) at least 2 degrees higher. 

f) At the moment the bank . . . . . . . . . . . . . . . . . . . . . . . . . (consider) a merger proposal from Barclays. 

g) When the market crashed the company . . . . . . . . . . . . . . . . . . . . . . . . . (build) 3 hotels in Asia. 

h) Lee (1992) . . . . . . . . . . . . . . . . . . . . . . . . . (dispute) Sakamoto’s theory. 

i) In the last six years inﬂation . . . . . . . . . . . . . . . . . . . . . . . . . (fall) sharply in Europe. 

3. Simple or continuous? 
a) In general, the continuous is used to focus on the activity itself or to stress its temporary nature. Compare the following: 

b) Also note that certain verbs are rarely used in the continuous. They are state verbs like prefer, want and believe. Another similar group is known as performative verbs (assume, deny, promise, refuse, suggest). 

4. Select either simple or continuous in each case: 
a) The team at Cambridge . . . . . . . . . . . . . . . (work) on a rare type of brain disease. 

b) He . . . . . . . . . . . . . . .(believe) he will ﬁnish the study early next year. 

c) This magazine . . . . . . . . . . . . . . .(look for) a new writer on technology. 

d) In the late 1990s she was working on rice plants but now she . . . . . . . . . . . . . . (research) potatoes. 

e) The average age of marriage in Britain . . . . . . . . . . . . . . . (rise) by six years since 1970. 

f) The company. . . . . . . . . . . . . . .(own) factories in 12 countries. 

g) Most people in the city . . . . . . . . . . . . . . . (live) within two kilometres of their work. 

h) Dr McPherson . . . . . . . . . . . . . . . (attend) a conference in South America this week. 

5. When writing paragraphs, it is important to be clear about which time phrases control the tenses of verbs: 
For years, the condition of the family has produced some of the strongest debate heard in America. The statistics of collapse have appeared simple and clear. The proportion of children born outside marriage rose from 18% in 1980 to 33% in 1999. The share of households made up of two parents and their children fell from 45% in 1960 to only 23% in 2000. 

In this case, the time phrase For years controls the tense of the ﬁrst two sentences (present perfect). The following two sentences are in the simple past because of the dates 1980, 1999 and 1960, which show ﬁnished periods. 

6. Read the text below and select the most suitable tense for each verb in brackets (time phrases in italic). 
For a long time gardeners a) . . . . . . . . . . . . . . . . (suspect) that using green ﬁngers is just as effective as talking softly to plants to encourage growth. Scientists b). . . . . . . . . . . . . . . . (develop) a robot that strokes young plants to make them grow stronger and faster. But after research a year ago c) . . . . . . . . . . . . . . . . (conﬁrm) that plants need the human touch, scientists at Greenwich University d) . . . . . . . . . . . . . . . (develop) the stroking machine they call Dr Green. 

Dr Green e) . . . . . . . . . . . . . . . . . (be display) at the last Chelsea Flower Show, where it f) . . . . . . . . . . . . . . . . . (demonstrate) the technique of brushing the tips of young plants to produce stronger specimens. David Carey, who is leading the research, g) . . . . . . . . . . . . . . . . . (say) that the machine could avoid the use of chemicals. 

Currently, Dr Green h) . . . . . . . . . . . . . . . . . (be test) on a large scale by a commercial grower. Stroking plants once a day i) . . . . . . . . . . . . . . . . . (make) them 30% stronger, which is what you need before you plant them out. When another kind of plant was stroked once a week, it j) . . . . . . . . . . . . . . . . . (develop) increased insect resistance. The research team hope that a cheap version of Dr Green k) . . . . . . . . . . . . . . . . . (be available) to amateur gardeners by 2007. 

BT Luyện dịch:
SIX THINKING HATS - Looking at a Decision From All Points of View.

'Six Thinking Hats' is a powerful technique that helps you look at important decisions from a number of different perspectives. It helps you make better decisions by forcing you to move outside your habitual ways of thinking. As such, it helps you understand the full complexity of the decision, and spot issues and opportunities to which you might otherwise be blind.

This tool was created by Edward de Bono in his book '6 Thinking Hats'.
Many successful people think from a very rational, positive viewpoint. This is part of the reason that they are successful. Often, though, they may fail to look at a problem from an emotional, intuitive, creative or negative viewpoint. This can mean that they underestimate resistance to plans, fail to make creative leaps and do not make essential contingency plans. 

Similarly, pessimists may be excessively defensive, and more emotional people may fail to look at decisions calmly and rationally.

If you look at a problem with the 'Six Thinking Hats' technique, then you will solve it using all approaches. Your decisions and plans will mix ambition, skill in execution, sensitivity, creativity and good contingency planning.

 

How to Use the Tool:

You can use the Six Thinking Hats technique in meetings or on your own. In meetings it has the benefit of blocking the confrontations that happen when people with different thinking styles discuss the same problem.

Each 'Thinking Hat' is a different style of thinking. These are explained below:

 

• White Hat:

With this thinking hat you focus on the data available. Look at the information you have, and see what you can learn from it. Look for gaps in your knowledge, and either try to fill them or take account of them.

This is where you analyze past trends, and try to extrapolate from historical data.

• Red Hat:

'Wearing' the red hat, you look at problems using intuition, gut reaction, and emotion. Also try to think how other people will react emotionally. Try to understand the responses of people who do not fully know your reasoning.

• Black Hat:
Using black hat thinking, look at all the bad points of the decision. Look at it cautiously and defensively. Try to see why it might not work. This is important because it highlights the weak points in a plan. It allows you to eliminate them, alter them, or prepare contingency plans to counter them.

Black Hat thinking helps to make your plans 'tougher' and more resilient. It can also help you to spot fatal flaws and risks before you embark on a course of action. Black Hat thinking is one of the real benefits of this technique, as many successful people get so used to thinking positively that often they cannot see problems in advance. This leaves them under-prepared for difficulties.


• Yellow Hat:

The yellow hat helps you to think positively. It is the optimistic viewpoint that helps you to see all the benefits of the decision and the value in it. Yellow Hat thinking helps you to keep going when everything looks gloomy and difficult.

• Green Hat:
The Green Hat stands for creativity. This is where you can develop creative solutions to a problem. It is a freewheeling way of thinking, in which there is little criticism of ideas. 


• Blue Hat:
The Blue Hat stands for process control. This is the hat worn by people chairing meetings. When running into difficulties because ideas are running dry, they may direct activity into Green Hat thinking. When contingency plans are needed, they will ask for Black Hat thinking, etc.  A variant of this technique is to look at problems from the point of view of different professionals (e.g. doctors, architects, sales directors, etc.) or different customers.

Example:

The directors of a property company are looking at whether they should construct a new office building. The economy is doing well, and the amount of vacant office space is reducing sharply. As part of their decision they decide to use the 6 Thinking Hats technique during a planning meeting.

Looking at the problem with the White Hat, they analyze the data they have. They examine the trend in vacant office space, which shows a sharp reduction. They anticipate that by the time the office block would be completed, that there will be a severe shortage of office space. Current government projections show steady economic growth for at least the construction period. 

When they think with the Black Hat, they worry that government projections may be wrong. The economy may be about to enter a 'cyclical downturn', in which case the office building may be empty for a long time.

If the building is not attractive, then companies will choose to work in another better-looking building at the same rent. 

With the Yellow Hat, however, if the economy holds up and their projections are correct, the company stands to make a great deal of money. 

If they are lucky, maybe they could sell the building before the next downturn, or rent to tenants on long-term leases that will last through any recession. 

With Green Hat thinking they consider whether they should change the design to make the building more pleasant. Perhaps they could build prestige offices that people would want to rent in any economic climate. Alternatively, maybe they should invest the money in the short term to buy up property at a low cost when a recession comes.

The Blue Hat has been used by the meeting's Chair to move between the different thinking styles. He or she may have needed to keep other members of the team from switching styles, or from criticizing other peoples' points.

It is well worth reading Edward de Bono's book 6 Thinking Hats for more information on this technique.

Main benefits of Six Thinking Hats method:


1 
Allow to say things without risk


2 
Create awareness that there are multiple perspectives on the issue at hand


3 
Convenient mechanism for 'switching gears'


4 
Rules for the game of thinking


5 
Focus thinking


6 
Lead to more creative thinking


7 
Improve communication

